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	Eeleksamiproov nr.1 aines"Programmeerimine I"



 
NB! Submit the solution on paper, including the task sheet, which must be filled out in any case, or send it to vladimir.viies@gmail.com. Sent files must not be compressed.
 .

1.(p ) Create an algorithm and code  for a program that finds the sums of the positive elements of the columns to the right of the third column of the matrix A[N][M] (one sum for each column) and outputs them to the screen in increasing order. The matrix can be entered from the keyboard or filled with random integers. N and M must be entered. 1<(N and M)<15.
2.(p) Create an algorithm and code for the following task:

1. An array of 6-digit integers S[K] is entered from the arry/text file C1. The integers are in the format DDYYYY (day, month, year) and represent people's birthdays in the current century.

2. After each date of birth, display the dates in a row when the respective person's birthday falls on a Sunday. The initial data is that January 1, 1900 was a Monday and the dimension of the array K is greater than 3 and less than 15.
 
NB! Submit the solution on paper, including the task sheet, which must be filled out in any case, or send it to vladimir.viies@gmail.com. Sent files must not be compressed.
1.(p ) Create an algorithm and code  for a program that finds the products of the negative elements of the columns to the left of the third column of the matrix A[N][M] (one product per each column) and outputs them to the screen in increasing order. The matrix can be entered from the keyboard or filled with random integers. N and M must be entered. 1<(N and M)<15.
2.(p) Create an algorithm and code  for the following task:

Enter an array of four-digit strings S( 1..n,1..m) from a array/file. Determine which of them could be numbers of the 2nd system and which numbers of the 16th system (lowercase and uppercase letters do not have to be distinguished, i.e. a=A). Numbers of the 2nd system cannot be included in the list of 16th numbers. Output the result to the screen as two numbers.
NB! Submit the solution on paper, including the task sheet, which must be filled out in any case, or send it to vladimir.viies@gmail.com. Sent files must not be compressed.
1.(p ) Create an algorithm and code  for a program that finds the matrix A[N][M], starting from the third row, the multiplications of the negative elements (one multiplication for each row) and outputs them to the screen in descending order. The matrix can be entered from the keyboard or filled with random integers. N and M must be entered. 1<(N and M)<15.
2.(p) Create an algorithm and code for the following task:

Enter the weights (real numbers) of the goods in the two goods containers, respectively K1(1..n) and K2(1..m). Choose the lightest quantity of goods P among them and display their weights in descending order, in three rows on the screen. In case the last triple remains incomplete, fill it with zeros K1, K2 are not ordered.
NB! Submit the solution on paper, including the task sheet, which must be filled out in any case, or send it to vladimir.viies@gmail.com. Sent files must not be compressed.
1.(p) Write an algorithm and code for a program that finds the scores of a ski jump style with point accuracy. The judges' scores are located in the array H[N][5]. The number of N-evaluable ski jumps. Style scores are given based on the following rule: the average of the three scores is taken into account, the best and worst are excluded from the score calculation.

The matrix H can be entered from the keyboard or filled with random integers. N must be read from the keyboard 1<(N )<15.
2.(p) Create an algorithm and code for the following task:

It is necessary to enter a text consisting of words (strings of symbols) separated by spaces (the end character is the symbol ".") and the symbols of each word should be arranged alphabetically and the resulting words displayed in alphabetical order on the screen. As a simplification, the text can be viewed as the following array, where all words are of the same length SO[N][8], where N is the number of words and 8 is the word length.
NB! Submit the solution on paper, including the task sheet, which must be filled out in any case, or send it to vladimir.viies@gmail.com. Sent files must not be compressed.
1.(p ). Create an algorithm and code for a task that finds the matrix A[N][M], the products of the negative elements below the main diagonal, the sum of the positive elements and outputs them to the screen in descending order. The matrix can be entered from the keyboard or filled with random integers. N and M must be entered. 1<(N and M)<15
2.(p) Create an algorithm (UML) and write code with  :

1. the  number of points on the level is entered from the keyboard - an integer N(0<N10)  and real numbers of arrays X and Y (coordinates of these points) and real numbers R, X0 and Y0 (circle radius , center coordinates, respectively);

2. the arrays X1 and Y1 are formed from the coordinates of the points which  within the given circle;

3. the number of elements M of the arrays X1 and Y1 is displayed on the screen and elements of the same name in pairs in one row, i.e. in the form:

        X11 Y11

        X12 Y12
          ............
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